



Naam: \_\_\_\_\_

Datum: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{4}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right) - \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^0 - \frac{1}{5} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{5} =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{4} =$$



Naam: \_\_\_\_\_

Datum: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{4}\right) - \left(-\frac{3}{5}\right) = \frac{7}{20}$$

$$\left(-\frac{1}{5}\right) - \frac{1}{6} = \left(-\frac{11}{30}\right)$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{50}\right)$$

$$\left(\frac{3}{4}\right) - \left(-\frac{3}{5}\right) = \frac{27}{20} = 1\frac{7}{20}$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{76}{135}\right)$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{6} = \left(-\frac{5}{36}\right)$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{18}\right)$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} = \frac{3}{10}$$

$$\left(\frac{1}{3}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{61}{100}$$

$$\left(-\frac{2}{5}\right)^3 - \frac{2}{5} = \left(-\frac{58}{125}\right)$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{2}\right) = \frac{1}{4}$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{2}\right) = \frac{5}{6}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{2}{5}\right)^3 - \frac{1}{2} = \left(-\frac{141}{250}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{5} = \frac{211}{1080}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{49}{150}$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$